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General Studies Model Questions – 4 

101. Projectile motion is a combination of horizontal motion with constant ---------------- and vertical 

motion with constant -------------- 

 (A) Acceleration, Velocity   (B) Velocity, Acceleration 

 (C) Displacement, velocity   (D) Velocity, displacement 

 Ans – (B) Velocity, Acceleration 

vwpnghUs; ,af;fk; vd;gJ khwhj ---------- nfhz;l fpilkl;l ,af;fk; kw;Wk; khwhj -------
--- nfhz;l nrq;Fj;J ,af;fk; Mfpatw;wpd; fyit MFk;. 

(A) KLf;fk;> jpirNtfk;   (B) jpirNtfk;> KLf;fk; 

(C) ,lg;ngah;r;rp> jpirNtfk;   (D) jpirNtfk;> ,lg;ngah;r;rp 

 Ans – (B) jpirNtfk;> KLf;fk; 

102. Nuclear force is 

 (A) charge depended    (B) spin independent 

 (C) both charge and spin independent  (D) spin dependent but charge independent 

 Ans – (D) spin dependent but charge independent 

 mZf;fU tpirahdJ 

(A) kpd;D}l;lj;ij rhh;e;Js;sJ    

(B) Row;rpia rhh;e;jpuhJ 

(C) kpd;D}l;lk; kw;Wk; Row;rpia rhh;e;jpuhJ   

(D) Row;rpia rhh;e;Js;sJ Mdhy; kpd;D}l;lk; rhh;e;jpuhJ 

Ans – (D) Row;rpia rhh;e;Js;sJ Mdhy; kpd;D}l;lk; rhh;e;jpuhJ 

103. The area of a semi-circle of radius 7 c.m. is 

 (A) 7 cm
2
  (B) 777 cm

2
  (C) 77 cm

2
  (D) 7777 cm

2
 

Ans – (C) 77 cm
2
 

7 nr.kP Muk; cs;s miu tl;lj;jpd; gug;G 

 (A) 7 nr.kP2  (B) 777 nr.kP 2  (C) 77 nr.kP 2  (D) 7777 nr.kP 2 

Ans – (C) 77 nr.kP 2 

104. The oxidation of SO to SO ion by oxygen 

 SO + O  SO, in this reaction which is Lewis acid and Lewis base? 

 (A) SO is Lewis acid and Oxygen is Lewis base 
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 (B) Oxygen is Lewis acid and SO is Lewis base 

 (C) Both are Lewis acids 

 (D) Both are Lewis Bases 

Ans – (B) Oxygen is Lewis acid and SO is Lewis base 

 Mf;rp[idf; nfhz;L SO Kjy; SO Mf;rp[Ndw;wk; nra;Ak; fPo;fhzk; tpidapy;>  

 SO + O  SO 

 vJ Y}ap]; mkpykhfTk; vJ Y}ap]; fhukhfTk; nray;gLfpwJ? 

(A) SO Y}ap]; mkpyk; kw;Wk; Mf;rp[d; Y}ap]; fhuk; 
(B) Mf;rp[d; Y}ap]; mkpyk; kw;Wk; SO Y}ap]; fhuk; 
(C) ,uz;Lk; Y}ap]; mkpyq;fs; 
(D) ,uz;Lk; Y}ap]; fhuq;fs; 
(E) Ans – (B) Mf;rp[d; Y}ap]; mkpyk; kw;Wk; SO Y}ap]; fhuk; 

105. Cyanide resistant respiration is found in 

 (A) Plants only    (B) Animals only 

 (C) Both plants and animals  (D) Plants and Microbes 

Ans – (D) Plants and Microbes 

 Rthrpj;jypd; raidl; vjph;g;Gj;jpwd; ,tw;wpy; fhzg;gLfpwJ. 

(A) jthuq;fspy; kl;Lk;   (B) tpyq;Ffspy; kl;Lk; 

(C) jhtuq;fs; kw;Wk; tpyq;Ffspy;  (D) jhtuq;fs; kw;Wk; Ez;Zaphpfspy; 

Ans – (D) jhtuq;fs; kw;Wk; Ez;Zaphpfspy; 

106. Male sex hormone ‘testosterone’ is produced by 

 (A) Leydig cells   (B) Sertoli cells 

 (C) Germinal epithelial cells  (D) Spermatogonial cells 

 Ans – (A) Leydig cells 

 Mz; ghypd `hh;Nkhd; ‘nl];Nlh];BNuhid’ cw;gj;jp nra;tJ 

(A) nya;br; nry;fs;    (B) nrh;Nlhiy nry;fs; 

(C) n[h;kpdy; vgpjPypay; nry;fs;  (D) ];ngh;nkl;NlhNfhdpay; nry;fs; 

Ans – (A) nya;br; nry;fs; 

107. Which one of the following is correctly matched? 

 I. Gregor Mendel  - Neurospora 

 II. T.H.Morgan  - Drosophila 
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 III. C.B.Bridges  - Garden Pea 

 IV. J.H.Muller  - Mice 

 (A) I  (B) II  (C) III  (D) IV 

 Ans – (B) II 

 fPof;fz;ltw;Ws; vJ rhpahfg; nghUe;jp cs;sJ? 

 I fphpfhh; nkz;ly;  - epANuh];Nghuh 

 II T.H. khh;f;fd;   - bNuhNrhgpy;yh 

 III. C.B. gphpl;[];   - Njhl;lg;gaW 

 IV. J.H. Ky;yh;   - vypfs;  

 (A) I  (B) II  (C) III  (D) IV 

 Ans – (B) II 

108. Tax is charged on some items which are manufactured in the country. This is collected by the 

Government of India. This tax is 

 (A) Direct Tax    (B) Indirect Tax 

 (C) Excise Duty    (D) Service Tax 

 Ans - (C) Excise Duty 

ek; ehl;by; cw;gj;jp nra;ag;gLfpd;w nghUs;fs; rpytw;wpd; kPJ thp tpjpf;fg;gLfpd;wJ. 
,J ika muRf;Fr; nry;fpd;wJ. me;j thp 

(A) Neh;Kf thp   (B) kiwKf thp 

(C) fyhy; thp    (D) Nrit thp 

Ans - (C) fyhy; thp  

109. The Value of  

 (A) 3x  (B) 3  (C) 3x +2  (D) x-2 

Ans -(B) 3 

 d; kjpg;G 

 (A) 3x  (B) 3  (C) 3x +2  (D) x-2 

Ans -(B) 3 

110. A boy is now twice as old as his sister, four years ago, he was thrice as old as her what are their 

ages now? 

 (A) 18, 9  (B) 14, 7  (C) 16, 8  (D) 12, 6 

Ans -(C) 16, 8 
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xU igadpd; jw;Nghija taJ mtdJ jq;ifapd; taijg;Nghy ,U klq;F> 4 
Mz;LfSf;F Kd;G mtdJ taJ mtd; jq;ifapd; taijg;Nghy %d;W klq;F vdpy;> 
mth;fsJ jw;Nghija taJ vd;d? 

 (A) 18, 9  (B) 14, 7  (C) 16, 8  (D) 12, 6 

Ans -(C) 16, 8 

111. x
3/2

 : 9 = 16 : x. What is the value of x 

 (A) 16  (B) 3  (C) 4  (D) 12 

Ans -(D) 12 

 X
3/2

 : 9 = 16 : x. vdpy; x d; kjpg;G vd;d? 

 (A) 16  (B) 3  (C) 4  (D) 12 

Ans - (D) 12 

112. Total surface area of hollow hemisphere is equal to 

 (A) 2 (R
2
 + r

2
) sq. units   (B) 2 (R

2
 - r

2
) sq. units 

 (C) (3R
2
 + r

2
) sq. units   (D) (3R

2
 - r

2
) sq. units 

Ans -(C) (3R
2
 + r

2
) sq. units  

 cs;sPlw;w miuf; Nfhsj;jpd; nkhj;jg; Gwg;gug;G = 

 (A) 2 (R
2
 + r

2
) r. myFfs;   (B) 2 (R

2
 + r

2
) r. myFfs; 

 (C) (3R
2
 + r

2
) r. myFfs;   (D) (3R

2
 + r

2
) r. myFfs; 

Ans -(C) (3R
2
 + r

2
) r. myFfs; 

113. The probability that a leap year will have 53 Fridays or 53 Saturday is 

 (A) 1/7  (B) 2/7  (C) 3/7  (D) 4/7 

Ans -(C) 3/7  

xU yPg; tUlj;jpy; 53 nts;spf;fpoikfs; my;yJ 53 rdpf;fpoikfs; tUtjw;fhd 
epjo;jfT fhz;f. 

 (A) 1/7  (B) 2/7  (C) 3/7  (D) 4/7 

Ans -(C) 3/7  

114. Factorization of (x + y)
 2
 + 9(x +y) + 8 is 

 (A) (x+y+1) (x+y)   (B) (x+y+1) (x+y+8) 

 (C) (x+y+1) (x+y+6)   (D) (x+y+8) (x+y+2) 

Ans - (B) (x+y+1) (x+y+8) 

 (x + y)
2
 + 9(x +y) + 8-d; fhuzpfs; 
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 (A) (x+y+1) (x+y)   (B) (x+y+1) (x+y+8) 

 (C) (x+y+1) (x+y+6)   (D) (x+y+8) (x+y+2) 

Ans - (B) (x+y+1) (x+y+8) 

115. What is the difference between the sum of first ‘n’ odd natural numbers and that of first ‘n’ 

natural numbers? 

 (A) n/2 + 1  (B) n(n-1)/2  (C) n(n+1)/2  (D) n(n+1)(2n+1)/6 

Ans - (B) n(n-1)/2  

Kjy; ‘n’ xw;iw ,ay; vz;fspd; $LjYf;Fk; Kjy; ‘n’ ,ay; vz;fspd; $LjYf;Fk; 
cs;s tpj;jpahrk; vd;d? 

 (A) n/2 + 1  (B) n(n-1)/2  (C) n(n+1)/2  (D) n(n+1)(2n+1)/6 

Ans - (B) n(n-1)/2  

116. Which of the following is arranged in correct ascending order? 

 (A) 25% of 8, 40% of 6, 30% of 9, 20% of 15 

 (B) 20% of 15, 25% of 8, 30% of 9, 40% of 6 

 (C) 30% of 9, 40% of 6, 25% of 8, 20% of 15 

 (D) 20% of 15, 30% of 9, 40% of 6, 25% of 8 

Ans - (A) 25% of 8, 40% of 6, 30% of 9, 20% of 15 

 gpd;tUtdtw;Ws; vJ rhpahd VWthpirapy; mike;Js;sJ? 

(A) 8y; 25%, 6y; 40%, 9y; 30%, 15y; 20% 

(B) 15y;  20%, 8y;  25%, 9y;  30%, 6y;  40% 

(C) 9y;  30%, 6y;  40%, 8y;  25%, 15y;  20% 

(D) 15y;  20%, 9y;  30%, 6y;  40%, 8y;  25% 

(E) Ans -(A) 8y; 25%, 6y; 40%, 9y; 30%, 15y; 20% 

117. Which of the following is larger in area? 

 (A) A triangle with base 10 cm and height 8 cm 

 (B) A triangle with sides 12 cm, 5 cm and 13 cm 

 (C) An equilateral triangle whose sides are 10 cm each 

 (D) A right angled triangle whose sides containing the right angle are 3 cm and 4 cm 

Ans - (C) An equilateral triangle whose sides are 10 cm each 
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 gpd;tUtdtw;Ws; gug;gstpy; nghpaJ vJ? 

(A) mbg;gf;fk; 10 nrkP> cauk; 8 nrkP nfhz;l Kf;Nfhzk; 

(B) 12 nrkP> 5 nrkP kw;Wk; 13 nrkP gf;fq;fs; cs;s Kf;Nfhzk; 

(C) 10 nrkP gf;fk; cs;s rkgf;f Kf;Nfhzk; 

(D) nrq;Nfhzj;ij cs;slf;fpa gf;fq;fs; 3 nrkP kw;Wk; 4 nrkP cs;s Kf;Nfhzk; 

Ans -(C) 10 nrkP gf;fk; cs;s rkgf;f Kf;Nfhzk; 

118. The arithmetic mean of a group of 75 observations was calculated as 27. It was later found that 

one observation was wrongly read as 43 instead of the correct value 53. Obtain the correct 

arithmetic mean of the data. 

 (A) 26.13  (B) 27.13  (C) 28.13  (D) 25.13 

Ans -(B) 27.13 

75 vz;fisf; nfhz;l xU njhFjpapd; ruhrhp 27 vdf; fzf;fplg;gl;lJ. gpd;G> 53 vd;w 

vz; jtWjyhf 43 vd;W gbf;fg;gl;lJ gpd;dh; fz;Lgpbf;fg;gl;lJ. vdNt> 

mj;njhFjpapd; rhpahd ruhrhpiaf; fhzTk;. 

 (A) 26.13  (B) 27.13  (C) 28.13  (D) 25.13 

Ans -(B) 27.13 

119. A sum of money triples itself at 8% per annum over certain time. The number of years is equal to 

 (A) 24  (B) 25  (C) 20  (D) 12 

Ans -(B) 25  

 vj;jid Mz;Lfs; Kbtpy; xU Fwpg;gpl;l mryhdJ 8% tl;b tPjj;jpy; %d;W  

     klq;fhFk; 

 (A) 24  (B) 25  (C) 20  (D) 12 

Ans -(B) 25  

120. Match the following : 

 (a) Annie Besant  1. Kesari 

 (b) Bipin Chandrapal  2. Common weal 

 (c) Boopendra Nath Dutt  3. The New Asia 
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 (d) Tilak    4. Yuganthar 

  (a) (b) (c) (d) 

 (A) 3 4 1 2 

 (B) 2 1 4 3 

 (C) 4 3 1 2 

 (D) 2 3 4 1 

Ans - (D) 2 3 4 1 

 nghUj;Jf : 

 (a) md;dpngrd;l   1. Nfrhp 

 (b) gpgpd; re;jpughy;  2. fhkd; tPy; 

 (c)  G+Nge;jpu ehj; jj;  3. epA+ Mrpah 

 (d)  jpyf;    4. Afhe;jh; 

  (a) (b) (c) (d) 

 (A) 3 4 1 2 

 (B) 2 1 4 3 

 (C) 4 3 1 2 

 (D) 2 3 4 1 

Ans - (D) 2 3 4 1 

121. Before E.V. Ramaswamy Vaikom Satyagrah was first started by three leaders. They were 

 (A) T.Prakasam, T.K. Madhavan and K.P. Kesava Menon 

 (B) T.K.Madhavan, K.P. Kesava Menon and George Joseph 

 (C) George Joseph, T.Prakasam and T.K.Madhavan 

 (D) K.P.Kesava Menon, T.Prakasam and George Joseph 

Ans - (B) T.K.Madhavan, K.P. Kesava Menon and George Joseph 
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<.nt.uhkrhkpf;F Kd;> itf;fk; rj;jpahfpufj;ij njhlq;fpa %d;W jiyth;fs; 

mth;fshtJ 

(A) jp.gpufhrk;> jp.Nf.khjtd; kw;Wk; Nf.gp.Nfrt Nkdd; 

(B) jp.Nf.khjtd;> Nf.gp.NfrtNkdd; kw;Wk; [hh;[; N[hrg; 

(C) [hh;[; N[hrg;> jp.gpufhrk; kw;Wk; jp.Nf.khjtd; 

(D) Nf.gp. Nfrt Nkdd;> jp.gpufhrk; kw;Wk; [hh;[; N[hrg; 

Ans - (B) jp.Nf.khjtd;> Nf.gp.NfrtNkdd; kw;Wk; [hh;[; N[hrg; 

122. Who was called ‘The Father of Modern India’? 

 (A) Ambedhkar     (B) ‘Periyar’ E.V.R. 

 (C) Gandhiji     (D) Rajaram Mohan Roy 

Ans - (D) Rajaram Mohan Roy 

 ‘etPd ,e;jpahtpd; je;ij’ vd;wiof;fg;gLgth; ahh;? 

 (A) mk;Ngj;fhh;     (B) ‘nghpahh;’ <.nt.uh 

 (C) fhe;jp[p     (D) ,uh[huhk; Nkhfd; uha; 

Ans - (D) ,uh[huhk; Nkhfd; uha; 

123. Tambapanni is the old name of 

 (A) Tamil Nadu     (B) Kerala 

 (C) Srilanka     (D) Karnataka 

Ans - (C) Srilanka 

 jk;kghzp vt;tplj;jpd; gioangah;? 

(A) jkpo;ehL  (B) Nfusk;  (C) =yq;fh  (D) fh;ehlfk; 

Ans - (C) =yq;fh 

124. Name the journal which declared ‘Swami Vivekanand the Greatest figure in the Parliament’. 

 (A) Young India    (B) Samachar Darpan 

 (C) Swadeshi Mitran    (D) New York Herald 

Ans - (D) New York Herald 
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 ‘ghuhSkd;wj;jpd; jiyrpwe;j egh; tpNtfhde;jh;’ vd;W Fwpg;gpl;l gj;jphpifapd; ngah; 

 (A) aq; ,e;jpah    (B) rkhr;rh; jh;gd; 

 (C) RNjrp kpj;ud;    (D) epA+ahh;f; n`uhy;l; 

Ans - (D) epA+ahh;f; n`uhy;l; 

125. Cultivable lands which has not been ploughed for between one and five years are called as 

 (A) Culturable waste    (B) Current fallows 

 (C) Other fallows    (D) Permanent fallows 

Ans - (C) Other fallows 

gaphplf;$ba epyq;fs; xd;W Kjy; Ie;J Mz;Lfs; tiu cog;glhj nghOJ> mJ 

,t;thW miof;fg;gLfpwJ. 

(A) gad;ghlw;w tpisepyk;   (B) elg;ghz;L jhpR 

(C) gpw jhpR     (D) epiyahd Nka;r;ry; epyk; 

Ans - (C) gpw jhpR  

126. Tidal forests of Ganga-Brahmaputra delta, mainly consists of 

 (A) Rhododentrons    (B) Hardwood palms 

 (C) Laurels     (D) Junipers 

Ans - (B) Hardwood palms 

 fq;if-gpuk;kGj;jpuh miyahj;jp fhLfspy; Kf;fpakhf fhzg;gLk; kutifahdJ 

(A) nuhNlhnld;l;Nuhd;];   (B) fbd gid tif 

 (C) yhuy;];     (D) [pdpg;gh;      

Ans - (B) fbd gid tif 

127. Which is wrongly matched? 

 (A) Indo – European Family – Arya   (B) Austric Family – Nishada 

 (C) Dravidian Family – Dravidian   (D) Sino – Tibetan Family – Munda 

Ans - (D) Sino – Tibetan Family – Munda 
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 jtwhd nghUj;jj;ij fz;Lgpbf;fTk;? 

(A) ,e;jpa INuhg;gpa FLk;gk; - Mh;ah  (B) M];bhpf; FLk;gk; - eprhlh 

(B) jpuhtpl FLk;gk; - jpuhtplh   (D) irdh jpngj;jpa FLk;gk; - 

Kd;lh 

Ans - (D) irdh jpngj;jpa FLk;gk; - Kd;lh 

128. --------marked the beginning of census taking in India. 

 (A) The year 1862    (B) The year 1872 

 (B) The year 1882    (D) The year 1892 

Ans - (B) The year 1872 

 ----------- ypUe;J ,e;jpahtpy; kf;fs; njhif fzf;nfLg;G njhlq;fg;gl;lJ. 

(A) 1862k; tUlk;    (B) 1872k; tUlk; 

(C) 1882k; tUlk;    (D) 1892k; tUlk; 

Ans - (B) 1872k; tUlk; 

129. The MRTP Act, 1969 has been repealed and replaced by the competition Act, 2002 with effect 

from 

 (A) 2002  (B) 2009  (C) 2013  (D) 2016 

Ans - (B) 2009 

thzpg eltbf;ifapy; Kw;Whpik jilr;rl;lk; (MRTP Act), 1969 MdJ uj;J nra;;ag;gl;L 

Nghl;br; rl;lk; 2002w;F ,f;fhyj;jpypUe;J eilKiwgLj;jg;gl;lJ. 

(A) 2002  (B) 2009  (C) 2013  (D) 2016 

Ans - (B) 2009 

130. The basic objective of Gandhian plan brought out by S.N. Agarwala was 

 (A) Agricultural development    

(B) Growth of cottage and village industries 

(C) To achieve equality 

(D) To raise the material as well as the cultural level of Indian masses 



Winmeen VAO Mission 100 2018 

 

11 www.winmeen.com | Paid Copy – Don’t Share With Anyone 
 

Ans - (D) To raise the material as well as the cultural level of Indian masses 

S.N. mfh;thyh cUthf;fpa fhe;jpa jpl;lj;jpd; mbg;gil Nehf;fkhdJ 

(A) Ntshz;ik tsh;r;rp 

(B) Fbir kw;Wk; fpuhkpa njhopyfq;fspd; tsh;r;rp 

(C)  

(D) xl;Lnkhj;j ,e;jpahtpd; %yk; kw;Wk; fyhr;rhu epiyapid cah;j;Jjy; 

Ans - (D) xl;Lnkhj;j ,e;jpahtpd; %yk; kw;Wk; fyhr;rhu epiyapid cah;j;Jjy; 

131. The last Deputy Chairman of Planning Commission of India was 

 (A) Manmohan singh    (B) Narendra Modi 

 (C) Arun Jaitley     (D) Montek Singh Ahluwalia 

Ans - (D) Montek Singh Ahluwalia 

 ,e;jpa jpl;lf;FOtpd; ,Wjpahd Jizj; jiyth; 

(A) kd;Nkhfd; rpq;    (B) eNue;jpu Nkhb 

 (C) mUz; N[l;yp    (D) khd;Nlf; rpq; mYthypah 

Ans - (D) khd;Nlf; rpq; mYthypah 

132. The first stage of the strategy related to Intensive Agricultural District Programme was started in 

the year  

 (A) 1951-52  (B) 1960-61  (C) 1965-66  (D) 1990-91 

Ans - (B) 1960-61 

 jPtpu khtl;l Ntshz; jpl;lk; njhlh;ghd Kjy; gbepiy ,e;j Mz;L Jtq;fg;gl;lJ 

 (A) 1951-52  (B) 1960-61  (C) 1965-66  (D) 1990-91 

Ans - (B) 1960-61 

133.  Which of the following statements are correct with regard to Tamil Nadu Pudhu Vaazhvu 

Project? 

 (i) It was launched in 2005    

(ii) It is aided by World Bank 
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 (iii) The total outlay is Rs.1,667 crores 

 (iv) It is being implemented in 26 districts 

 (A) All are correct statement   (B) (i), (ii), (iii) are correct 

 (C) (ii), (iii), (iv) are correct   (D) (i), (ii) and (iv) are correct 

Ans - (A) All are correct statement 

 jkpo;ehL murpd; ‘GJ tho;T jpl;lk;’ njhlh;ghd fPo;fz;l $w;Wfspy; vit rhpahdit? 

(i) ,j;jpl;lk; 2005-y; njhlq;fg;gl;lJ. 

(ii) cyf tq;fp ,jw;F epjp cjtp toq;FfpwJ 

(iii) ,jw;fhd jpl;l nryT 1>667 Nfhb &gha; 

(iv) jkpo;ehl;by; 26 khtl;lq;fspy; ,j;jpl;lk; nray;gLj;jg;gLfpwJ. 

(A) midj;J $w;WfSk; rhp   (B) (i), (ii) kw;Wk; (iii) rhpahdit 

(C) (ii), (iii) kw;Wk; (iv) rhpahdit  (D) (i), (ii) kw;Wk; (iv) rhpahdit 

Ans - (A) midj;J $w;WfSk; rhp 

134. Whether governor of a state has the power to dissolve the state legislature? 

 (A) Yes      (B) No 

 (C) He/She can only recommend  (D) Only President can 

Ans - (A) Yes  

 khepy rl;lkd;wj;ij fiyf;Fk; mjpfhuk; khepy MSeUf;F cs;sjh? 

 (A) Mk;     (B) 

 (C) mth; ghpe;Jiu kl;LNk nra;a KbAk; (D) FbauR jiyth; kl;Lk; nra;a KbAk; 

Ans - (A) Mk; 

135. In the rules of business of Indian Parliament, if the speaker admits, notice of the motion but no 

date is fixed for its introduction – then it is called 

 (A) Call attention motion  (B) Adjournment motion 

 (C) No confidence motion  (D) No day – Yet – Named motion 

Ans - (D) No day – Yet – Named motion 
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 ehlhSkd;w mit tpjpfspd; gb> rghehafh; mdkjpj;jhy;> xU jPh;khdj;jpw;fhd 

mwpf;ifia Njjp Fwpg;gplhky; nfhz;L tuyhk; - mg;gb nfhz;L tUk; jPh;khdj;jpw;F vd;d 

ngah;? 

(A) ftd <h;g;G jPh;khdk;   (B) xj;jpitg;G jPh;khdk; 

(C) ek;gpf;ifapy;yh jPh;khdk;  (D) Njjpapy;yh> ngah; #l;lg;gl;l jPh;khdk; 

Ans - (D) Njjpapy;yh> ngah; #l;lg;gl;l jPh;khdk; 

136. Constitutional status to the Panchayat Raj Institutions was initiated based on the recommendation 

of  

 (A) G.V.K. Rao Committee   (B) L.M. Singhvi Committee 

 (C) Ashok Mehta committee   (D) Balwantray Mehta Committee 

Ans - (B) L.M. Singhvi Committee 

gQ;rhaj;J mikg;Gf;fSf;F murpayikg;G me;j];J nfhLg;gjw;F Kd; Kaw;rpfs; 

vLf;fg;gl;lJ ve;j FOtpd; ghpe;Jiuapd; ngahpy;? 

 (A) G.V.K. uht; FO    (B) L.M. rpq;tp FO 

 (C) mNrhf; Nkj;jh FO   (D) gy;te;j;uha; Nkj;jh FO 

Ans - (B) L.M. rpq;tp FO 

137. Which Article of the Constitution of India conferred special leave petitions power to the Supreme 

Court? 

 (A) Art. 136  (B) Art. 32  (C) Art. 139  (D) Art. 226 

Ans - (A) Art. 136 

gpd;tUk; ,e;jpa murpayikg;gpd; ve;j tpjp cr;rePjp kd;wj;jpw;F rpwg;G mDkjp 

kDtpid Vw;Fk; mjpfhuj;ij toq;Ffpd;wJ? 

(A) tpjp 136  (B) tpjp. 32  (C) tpjp. 139  (D) tpjp. 226 

Ans - (A) tpjp 136 

138. In India, power of Judicial Review is restricted because the 

 (A) Executive is supreme   (B) Legislature is supreme 

 (C) Constitution is supreme    (D) Judges are transferable 
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Ans - (C) Constitution is supreme   

 ,e;jpahtpy; ePjpg;Gduha;T mjpfhuk; tiuaiwf;Fl;gl;lJ> Vnddpy; 

(A) nray;Jiw cah;thdJ   (B) rl;lJiw cah;thdJ 

(C) murpayikg;G cah;thdJ   (D) ePjpgjpfs; ,lkhWjYf;F cl;gl;lth;fs; 

Ans - (C) murpayikg;G cah;thdJ  

139. The government of India instituted Bharat Ratna and Padma Shri awards under  

 (A) Article 14 of the Indian constitution 

 (B) Article 18 of the Indian constitution 

 (C) Article 25 of the Indian Constitution 

 (D) Article 32 of the Indian constitution 

Ans - (B) Article 18 of the Indian constitution 

,e;jpa murhq;fk; ghuj; uj;dh kw;Wk; gj;k= tpUJfis -------------- tpjpapd; fPo; 

cUthf;fpAs;sJ. 

(A) ,e;jpa murpay; rl;l tpjp – 14 

(B) ,e;jpa murpay; rl;l tpjp – 18 

(C) ,e;jpa murpay; rl;l tpjp – 25 

(D) ,e;jpa murpay; rl;l tpjp – 32 

Ans - (B) ,e;jpa murpay; rl;l tpjp – 18 

140. A scheme to provide Support to Training and Employment of Women (STEP) was launched in 

the year 

 (A) 1986-87  (B) 1990-91  (C) 1995-96  (D) 1996-97 

Ans - (A) 1986-87  

ngz;fspd; gapw;rp kw;Wk; Ntiytha;g;gpw;fhd MjuT (STEP) vd;w jpl;lk; 

mwpKfg;gLj;jg;gl;l Mz;L 

 (A) 1986-87  (B) 1990-91  (C) 1995-96  (D) 1996-97 

Ans - (A) 1986-87  
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141. Prime Minister of India inaugurated India’s longest road bridge on May 26, 2017. Which states 

are connected by this bridge? 

 (A) Assam and Arunachal Pradesh   (B) Assam and Manipur 

 (C) Assam and Thiripura    (D) Manipur and Thiripura 

Ans - (A) Assam and Arunachal Pradesh  

,e;jpa gpujkuhy;> Nk 26, 2017k; ehs; ,e;jpahtpNyNa kpfTk; ePskhd rhiyg; ghyk; 

jpwe;J itf;fg;gl;lJ. mJ ve;j ,U khepyq;fis ,izf;fpd;wJ? 

(A) m];]hk; kw;Wk; mUzhryg; gpuNjrk;  

(B) m];]hk; kw;Wk; kzpg;G+h; 

(C) m];]hk; kw;Wk; jphpGuh 

(D) kzpg;G+h; kw;Wk; jphpGuh 

Ans – (A) m];]hk; kw;Wk; mUzhryg; gpuNjrk; 

142. In India which organisation’s scientists recently produced electricity from water without using 

energy? 

 (A) NPL, New Delhi    (B) IISC, Bengaluru 

 (C) IISER, Kolkata    (D) IIT, Chennai 

Ans – (A) NPL, New Delhi 

,e;jpahtpy; ve;j mikg;igr; rhh;e;j tpQ;Qhdpfs; jw;NghJ ePhpypUe;J Mw;wy; vJTk; 

gad;gLj;jhky; kpd;rhuk; cUthf;f KbAk; vd fz;lwpe;Js;shh;fs;? 

 (A) NPL, GJ nly;yp    (B) IISC, ngq;fSU 

 (C) IISER, nfhy;fj;jh    (D) IIT, nrd;id 

Ans - (A) NPL, GJ nly;yp  

143. In which place Prime Minister of India inaugurated the country’s first Indian Institute of Skills 

[IIS] on Dec. 20, 2016? 

 (A) Ahmedabad     (B) Bengaluru 

 (C) Kanpur     (D) Varanashi 

Ans - (C) Kanpur 
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brk;gh; 20> 2016y; gpujk ke;jphp ehl;bd; Kjd;Kjyhf ve;j ,lj;jpy; ,e;jpa jpwd; 

epWtdj;ij [IIS] Jtf;fp itj;jhh;? 

(A) mfkjhghj;    (B) ngq;Fsu 

(C) fhd;G+h;    (D) thuzhrp 

Ans - (C) fhd;G+h; 

144. Which one of the organization organized the Gyan Sangam [Knowledge Summit] in New Delhi 

on March, 2017? 

 (A) Prajna Parvah    (B) Christian Education Society 

 (C) Students Islamic Movement of India  (D) Democratic Youth Federation of India 

Ans - (A) Prajna Parvah 

GJ by;ypapy; 2017k; Mz;L khh;r; khjj;jpy; ve;j mikg;G f;ahd; rq;fk; khehl;bid 

[mwpT cr;rp khehL] elj;jpaJ? 

(A) gpu[;dh ghh;th     (B) fpwp];Jt fy;tp fofk; 

(C) ,e;jpa ,];yhkpa khzth;fs; ,af;fk;  (D) ,e;jpa [dehaf thypgh; 

mikg;G 

Ans - (A) gpu[;dh ghh;th 

145. Which of the following aim comes under Prime Minister Krishan Sai Yojana? 

 (A) Environment    (B) To increase ground water 

 (C) Cloth production    (D) Free food 

Ans - (B) To increase ground water 

 gpujk ke;jphp fphp\d; rha; Nah[dh jpl;lj;jpd; Nehf;fk; vd;d? 

 (A) Rw;WGw #oy;   (B) epyj;jb ePh; nrwpT+l;Ljy; 

 (C) Jzp cw;gj;jp   (D) ,ytr czT 

Ans - (B) epyj;jb ePh; nrwpT+l;Ljy; 

146. Iron Lady of Manipur, Iron Sharmila got how many votes in the 2017 Manipur Assembly  

            election? 
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 (A) 10 votes  (B) 30 votes  (C) 60 votes  (D) 90 votes 

Ans - (D) 90 votes 

kzpg;G+hpd; ,Uk;G ngz;kzp ,Nuhk; \h;kpsh. 2017 kzpg;G+h; khepy rl;lkd;w Njh;jypy; 

ngw;w thf;Ffs; vj;jid? 

 (A) 10 thf;Ffs; (B) 30 thf;Ffs; (C) 60 thf;Ffs; (D) 90 thf;Ffs; 

Ans - (D) 90 thf;Ffs; 

147. Which district of Tamilnadu, Chief Minister announced new dental college from the year 2017? 

 (A) Chennai  (B) Dharmapuri  (C) Virudhunagar (D) Pudukottai 

Ans - (C) Virudhunagar 

ve;j khtl;lj;jpy; Gjpa gy; kUj;Jtf; fy;Y}hp 2017-Mk; Mz;by; njhlq;fpl jkpo;ehL 

Kjyikr;rh; cj;jutpl;Ls;shh;? 

(A) nrd;id  (B) jUkGhp  (C) tpUJefh;  (D) GJf;Nfhl;il 

Ans - (C) tpUJefh; 

148. Which one of the following state government has shifted its financial year from [April 1 to March 

31] to calendar year [January 1 to December 31]? 

 (A) Kerala     (B) Madhya Pradesh   

(C) Punjab     (D) West Bengal 

Ans - (B) Madhya Pradesh 

ve;j xU khepy muR ,e;j epjp Mz;bypUe;J [Vg;uy; 1 – khh;r; 31] fhyz;lh; Mz;bw;F 

[[dthp 1 brk;gh; 31]f;F khw;wpAs;sJ? 

(A) Nfush (B) kj;jpa gpuNjrk;  (C) gQ;rhg;  (D) Nkw;F tq;fk; 

Ans - (B) kj;jpa gpuNjrk;  

149. What percentage of total cultivation area in Tamilnadu is rainfed (Manavari)? 

 (A) 55%  (B) 57%  (C) 54%  (D) 52% 

Ans - (B) 57% 

jkpoehl;by; vt;tsT rjtPjj;jpy; nkhj;j gaph; rhFgbg; gug;gpy; khdhthhpg; gFjpapy; 

gaphplg;gLfpwJ? 



Winmeen VAO Mission 100 2018 

 

18 www.winmeen.com | Paid Copy – Don’t Share With Anyone 
 

 (A) 55%  (B) 57%  (C) 54%  (D) 52% 

Ans - (B) 57% 

150. Indian Neutrino Observatory is situated in which district of Tamilnadu? 

 (A) Madurai  (B) Theni  (C) Cuddalore  (D)  Chennai 

Ans - (B) Theni 

 ,e;jpa epA+l;hpNdh Ma;Tf;$lk; jkpofj;jpd; ve;j khtl;lj;jpy; cs;sJ? 

 (A) kJiu  (B) Njdp  (C) flY}h;  (D) nrd;id 

Ans - (B) Njdp 

151. A supernova is an exploding star. In which years the last two supernova are visible to the naked 

eye? 

 (A) 1600, 1980  (B) 1601, 1982  (C) 1604, 1987  (D) 1605, 1997 

Ans - (C) 1604, 1987 

#g;gh; Nehth vd;gJ xU ntb tpz;kPd;> rhjhuz ghh;itf;F Gyg;gl;l filrp ,uz;L 

#g;gh; Nehth ve;j tUlq;fspy; njhpe;jJ? 

 (A) 1600, 1980  (B) 1601, 1982  (C) 1604, 1987  (D) 1605, 1997 

Ans - (C) 1604, 1987 

152. Calculate the dimensions of Planck’s constant ‘h’, using the equation E = hy, where E 

energy and y frequency 

 (A) MLT
-1
  (B) ML

2
T

-1
  (C) ML

-1
T

-2
  (D) ML

-2
 T

-1
 

Ans - (B) ML
2
T

-1
  

E = hy vd;w rkd;ghl;il gad;gLj;jp> gpshq;f; khwpyp ‘h’ d; ghpkhzj;ijf; fzf;fpLf. 

,q;F E Mw;wy; y mjph;ntz; 

 (A) MLT
-1
  (B) ML

2
T

-1
  (C) ML

-1
T

-2
  (D) ML

-2
 T

-1
 

Ans - (B) ML
2
T

-1
  

153. Which one of the organic pesticides that contain phosphorous? 

 (A) DDT (B) BHC (C) 2, 4-D  (D) Parathion 

Ans - (D) Parathion 
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 fPNo cs;sitfspy; vJ gh];gu]; cs;s G+r;rpf;nfhy;yp? 

 (A) b.b.b. (DDT)    (B) gp.vr;.rp. (BHC)  

(C) 2, 4 -b (2, 4-D)    (D) ghuhj;jpahd; 

Ans - (D) ghuhj;jpahd; 

154. Match the following : 

 (a) Mixed fertilizer   1. DAP 

 (b) Complex fertilizer   2. NPK 

 (c) Bio fertilizer    3.Oil Cake 

 (d) Organic Nitrogen fertilizer  4. Algae 

  (a) (b) (c) (d) 

 (A) 1 2 3 4 

 (B) 2 1 4 3 

 (C) 3 2 1 4 

(D)  4 3 2 1 

Ans - (B) 2 1 4 3 

nghUj;Jf : 

 (a) fyg;G cuq;fs;  1. b.v.gp 

 (b) rpf;fyhd cuq;fs;  3. vd;.gp.Nf 

 (c) caph; cuq;fs;  3. vz;nza; Nff; 

 (d) fhpk iel;u[d; cuq;fs;  4. ghrp 

  (a) (b) (c) (d) 

 (A) 1 2 3 4 

 (B) 2 1 4 3 

 (C) 3 2 1 4 
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(D)  4 3 2 1 

Ans - (B) 2 1 4 3 

155. In Transmission Electron Microscope (TEM) ------------ is used to magnify the objects. 

(A) Light  (B) Optical lenses (C) Electrons  (D) Scanner 

Ans - (C) Electrons 

CLUty; kpd;dZ Ez;Nzhf;fpapy; (TEMy;) ----------- nghUl;fis nghpJg;gLj;j 

gad;gLfpwJ. 

(A) Xsp      (B) Mg;bfy; nyd;];fs; 

(C) vyf;l;uhd;fs; (kpd;dZf; fjph;fs;) (D) ];Nfdh;fs; 

Ans - (C) vyf;l;uhd;fs; (kpd;dZf; fjph;fs;) 

156. The Respiratory quotient value for glucose is 

 (A) 0.5  (B) 1.0  (C) 1.5  (D) 2.0 

Ans - (B) 1.0 

 FSf;Nfhrpd; Rthr <T kjpg;G 

 (A) 0.5  (B) 1.0  (C) 1.5  (D) 2.0 

Ans - (B) 1.0 

157. Which one is wrongly matched pair in their characters? 

 (A) Pancreas   - Glucagon 

 (B) Small intestine  - Stomatostatin 

 (C) Testis  -  Estrogen 

 (D) Adrenal gland  - Glucocorticoids 

Ans - (C) Testis  -  Estrogen 

 fPo;f;fz;l nghUj;jq;fspy; gz;Gfspd; mbg;gilapy; vJ jtwhd nghUj;jkhFk;? 

 (A) fizak;   -  FSf;ffhd; 

 (B) rpWFly;   - ];Nlhkl;Nl];Nlbd; 



Winmeen VAO Mission 100 2018 

 

21 www.winmeen.com | Paid Copy – Don’t Share With Anyone 
 

 (C) tpe;jfk;   - <];l;Nuhn[d; 

 (D) ml;hPdy; Rug;gp  - FSf;Nfhfhh;bfha;l;]; 

Ans - (C) tpe;jfk;   - <];l;Nuhn[d; 

158. Which of the following hormone stimulates contraction of uterine smooth muscle? 

 (A) Epinephrin  (B) Insulin  (C) Oxytocin  (D) Glucagon 

Ans - (C) Oxytocin 

 fPo;f;fz;ltw;Ws; ve;j `hh;Nkhd; fUg;igapd; nkJ jirfisr; RUf;f ce;JfpwJ? 

(A) vgpneg;hpd;  (B) ,d;Rypd;  (C) Mf;]pNlhrpd; (D) FSf;ffhd; 

Ans - (C) Mf;]pNlhrpd; 

159. The cylinder whose base is not in circular form is called 

 (A) Circular cylinder    (B) Right circular cylinder 

 (C) Oblique cylinder    (D) Irregular cylinder 

Ans - (C) Oblique cylinder 

 Xh; cUisapd; mbg;ghfk; tl;l tbtpy; ,y;iy vdpy; mJ vt;thW miof;fg;gLk;? 

(A) tl;l cUis    (B) Neh; tl;l cUis 

(C) rha;T cUis    (D) xOq;fw;w cUis 

Ans - (C) rha;T cUis 

160. 10 sq. m is equal to  

 (A) 100 sq. cm.     (B) 1000 sq.m 

 (C) 10000 sq. m     (D) 100000 sq.m 

Ans - (D) 100000 sq.m 

 10 kP vd;gJ vjw;F rkk;? 

 (A) 100 nrkP2     (B) 1000 nrkP2 

 (C) 10000 nrkP2     (D) 100000 nrkP2 

Ans - (D) 100000 nrkP2 
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161. A -------------- is often drawn as a guide, so that a frequency polygon can be drawn over the top. 

 (A) Frequency     (B) Histogram 

 (C) Cumulative Frequency   (D) Rectangle 

Ans - (B) Histogram 

 epfo;ntz; gyNfhzk; tiua xU topfhl;bahf (tiua) ,Ug;gJ 

(A) epfo;ntz;     (B) epfo;ntz; nrt;tfk; 

(C) FtpT epfo;ntz;    (D) nrt;tfk; 

Ans - (B) epfo;ntz; nrt;tfk; 

162. If 100 persons can finish a work in 7 days, how many persons can finish the same work 35 days? 

 (A) 20  persons  (B) 50 persons  (C) 30 persons  (D) 25 persons 

Ans - (A) 20  persons 

100 Ml;fs; xU Ntiyia 7 ehl;fspy; Kbf;ff; $Lk; vdpy; mNj Ntiyia 35 

ehl;fspy; Kbf;f vj;jidg; Ngh; Njitg;gLth;? 

 (A) 20  Ml;fs;  (B) 50 Ml;fs;  (C) 30 Ml;fs;  (D) 25 Ml;fs; 

Ans - (A) 20  Ml;fs;  

163. What percent of an hour is 36 seconds? 

 (A) 6%   (B) 1%  (C) 10% (D) 36% 

Ans - (B) 1%  

 36 tpdhb vd;gJ xU kzpapy; vj;jid rjtPjk; MFk;? 

 (A) 6%   (B) 1%  (C) 10% (D) 36% 

Ans - (B) 1%  

164. [x
m
/x

n
 ]

 m+n 
 [x

n
 / x

l 
]

n+1
  [x

l
 / x

m
]

l+m
 =

 

 (A) 1  (B) -1  (C) x
 m+n+l

  (D) 1/x
 m+n+l

 

Ans - (A) 1  

 [x
m
/x

n
 ]

 m+n 
 [x

n
 / x

l 
]

n+1
  [x

l
 / x

m
]

l+m
 =

 

  (A) 1  (B) -1  (C) x
 m+n+l

  (D) 1/x
 m+n+l 
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Ans - (A) 1  

165. If A = +, B = +, C = x and D = - then what is the value of 1/5 C2B 1/5 A 1/5 D 1/10 = ? 

 (A) 2.1  (B) 1.2  (C) 2.5  (D) 1.6 

Ans - (A) 2.1  

A vd;gjid  + vdTk;> B vd;gjid + vdTk;> C vd;gjid x vdTk;> D vd;gjid – 

vdTk; nfhz;lhy; 1/5 C2B 1/5 A 1/5 D 1/10 = ? 

 (A) 2.1  (B) 1.2  (C) 2.5  (D) 1.6 

Ans - (A) 2.1  

166. The value of : x
3
-1 / x+3  +  x

2
 + x + 1/ 3x + 9 = ? 

 (A) 3x -1  (B) 3(x+1)  (C) 3(x-1)  (D) 3x +2 

Ans - (C) 3(x-1) 

x
3
-1 / x+3  +  x

2
 + x + 1/ 3x + 9 d; kjpg;G 

 (A) 3x -1  (B) 3(x+1)  (C) 3(x-1)  (D) 3x +2 

Ans - (C) 3(x-1) 

167.  What is the 85
th
 term of the sequence x, x

3/2
, x

2
, x

5/2
, …..? 

 (A) x
85/2

 (B) x
45/2

  (C) x
43

  (D) x
44  

Ans - (C) x
43 

x, x
3/2

, x
2
, x

5/2
, ….. vd;w njhlh; thpirapd; 85tJ cWg;G vd;d? 

 (A) x
85/2

 (B) x
45/2

  (C) x
43

  (D) x
44 

 

Ans - (C) x
43

  

168. The radius and the slant height of a cone are respectively ‘r’ and ‘l’. What is the volume of the 

cone? 

 (A) 1/3 r  (B) 1/3  (C) rl  (D) (l+r) 

Ans - (A) 1/3 r  

 xU $k;gpd; Muk; kw;Wk; rhAauk; KiwNa ‘r’ kd;Wk; ‘l’ vdpy; $k;gpd; fdmsT vd;d? 

 (A) 1/3 r  (B) 1/3  (C) rl  (D) (l+r) 
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Ans - (A) 1/3 r  

169. What is the 21
st
 term of the sequence 100, 95, 90, 85….? 

 (A) 10  (B) 20  (C) 0  (D) 5 

Ans - (C) 0 

 100, 95, 90, 85…. vd;w njhlh;thpirapd; 21tJ cWg;G vd;d? 

 (A) 10  (B) 20  (C) 0  (D) 5 

Ans - (C) 0 

170. Simplify : 2x
4
 – 162 / (x

2 
+9) (2x-6) 

 (A) x
2
 – 9  (B) x+3  (C) x+6  (D) x-6 

Ans - (B) x+3  

RUf;Ff : 2x
4
 – 162 / (x

2 
+9) (2x-6) 

 (A) x
2
 – 9  (B) x+3  (C) x+6  (D) x-6 

Ans - (B) x+3  

171. If the LCM of x and y is z, what is the H.C.F. of x and y ? 

 (A) xy/z  (B) xz/y  (C) yz/x  (D) xy 

Ans - (A) xy/z 

 x, y ,tw;wpd; kP.ngh.k z vdpy; x, y d; kP.ngh.t. vd;d? 

 (A) xy/z  (B) xz/y  (C) yz/x  (D) xy 

Ans - (A) xy/z 

172. The number of delegates who attended the first session of the Indian National Congress was 

 (A) 25  (B) 100  (C) 72  (D) 2000 

Ans - (C) 72  

,e;jpa Njrpa fhq;fpu]pd; Kjy; $l;lj; njhlhpy; fye;J nfhz;l gpujpepjpfspd; 

vz;zpf;if 

 (A) 25  (B) 100  (C) 72  (D) 2000 

Ans - (C) 72  
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173. The revolutionary nationalist Nelakanda Brahmachari was born at 

 (A) Thirunelveli  (B) Madurai  (C) Sirkali  (D) Chennai 

Ans - (C) Sirkali 

 Gul;rpfukhd Njrpathjp ePyfz;l gpuk;kr;rhhp gpwe;j ,lk; 

 (A) jpUney;Ntyp  (B) kJiu  (C) rPh;fhop  (D) nrd;id 

Ans - (C) rPh;fhop 

174. Arrange the following in chronological order : 

 1. Senkuttuvan      

 2. Emayavaramban 

 3. Kanaikal Irumporai 

 4. Kuttuvan Cheral 

 (A) 2,1, 4,3  (B) 4,2,3,1  (C) 2,1,3,4  (D) 3,2,4,1 

Ans - (A) 2,1, 4,3 

 gpd;tUtdw;iw fhy tiuKiwgLj;Jf : 

1. nrq;Fl;Ltd; 

2. ,katuk;gd; 

3. fizfhy; ,Uk;Nghiw 

4. Fl;Ltd; Nruy; 

(A) 2,1, 4,3  (B) 4,2,3,1  (C) 2,1,3,4  (D) 3,2,4,1 

Ans - (A) 2,1, 4,3 

175. In Chola kingdom the revenue department was called as  

 (A) Perumtharam (B) Utan Kuttam (C) Puravuvari  (D) Olai Nayagam 

Ans - (C) Puravuvari  

 Nrho ehl;by; tUtha; Jiw vt;thW miof;fg;gl;lJ? 

(A) ngUk;jhuk;  (B) cld; $l;lk; (C) GuTthp  (D) Xiy ehafk; 

Ans - (C) GuTthp 
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176. Where the All India Muslim League was formed in 1906? 

 (A) Mumbai  (B) Uttar Pradesh  (C) Chennai  (D) Dhaka 

Ans - (D) Dhaka 

 vq;F mfpy ,e;jpa K];yPk; yPf; 1906-y; Vw;gLj;jg;gl;lJ? 

(A) Kk;ig  (B) cj;ju gpuNjrk;  (C) nrd;id  (D) lhf;fh 

Ans - (D) lhf;fh 

177. When ‘Swadeshi day’ was celebrated in India? 

 (A) 27 May, 1932    (B) 28 May, 1932 

 (C) 29 May, 1932    (D) 30 May, 1932 

Ans -(C) 29 May, 1932 

 vg;nghOJ ‘RNjrp ehs;’ ,e;jpahtpy; nfhz;lhlg;gl;lJ? 

 (A) Nk 27, 1932    (B) Nk 28, 1932 

 (C) Nk 29, 1932    (D) Nk 30, 1932 

Ans -(C) Nk 29, 1932 

178. Who was the first ruler in the Chola-Chalukya line? 

 (A) Raja Raja II     (B) Vikrama Chola 

 (C) Kulothunga I    (D) Adhi Rajendran 

Ans - (C) Kulothunga I 

 Nrho – rhSf;fpa topapy; te;j Kjy; murd; ahh;? 

(A) ,uz;lhk; ,uh[ uh[d;   (B) tpf;uk; Nrhod; 

(C) Kjyhk; FNyhj;Jq;fd;   (D) Mjp uhN[e;jpud; 

Ans - (C) Kjyhk; FNyhj;Jq;fd; 

179. The Vaikam Satyagraha arose in Keral in the year 

 (A) 1918  (B) 1924  (C) 1913  (D) 1928 

Ans - (B) 1924 
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 Nfushtpy; itf;fk; rj;jpahfpufk; eilngw;w Mz;L 

 (A) 1918  (B) 1924  (C) 1913  (D) 1928 

Ans - (B) 1924 

180. Periyar incorporated the ideas of the justice party and formed a new party called  

 (A) Dravida Kazhagam 

 (B) Dravida Munnetra Kazhagam 

(C) Swantara  Party 

(D) Anna Dravida Munnetra Kazhagam 

Ans - (A) Dravida Kazhagam 

nghpahh; ePjpf;fl;rpapd; fUj;Jfis xd;wpizj;J ve;j Gjpa fl;rpia Muk;gpj;jhh;. 

(A) jpuhtpl fofk; 

(B) jpuhtpl Kd;Ndw;w fofk; 

(C) Rje;jpuh fl;rp 

(D) mz;zh jpuhtpl Kd;Ndw;w fofk; 

Ans - (A) jpuhtpl fofk; 

181. Mercury the smallest planet has only 88 earth days to orbit the sun, because 

 (A) Size of the planet    (B) Spinning speed 

 (C) Distance from the sun   (D) It’s thin atmosphere 

Ans - (C) Distance from the sun 

 kpfr;rpwpa nkh;Fhp NfhshdJ #hpaid Rw;wp tu 88 ehl;fs; kl;LNk Mfpd;wJ. Vnddpy;  

(A) mjd; msT    (B) RoYk; Ntfk; 

(C) #hpadplkpUe;J cs;s J}uk;  (D) mjd; nky;ypa tspkz;lyk; 

Ans - (C) #hpadplkpUe;J cs;s J}uk; 

182. Match the disasters with its type and pick the correct answers code : 

 (a) Blizzards   1. Hydrological disaster 

 (b) Tsunamis   2. Health disaster 
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 (C) Nuclear accidents  3. Atomospheric disaster 

 (D) Pandemic   4. Anthropogenic disaster 

  (a) (b) (c) (d)   

 (A)  2 1 4 3 

 (B) 2 3 4 1 

 (C) 3 1 2 4 

 (D) 3 1 4 2 

Ans - (D) 3 1 4 2 

 gpd;tUk; Nghplh;ghLfis mjd; tifghl;NlhL nghUj;jp tpil fhz;f : 

(a) gdpg;Gay;   1. ePhpay; NguopT 

(b) Mopg;Nguiy  2. Rfhjhu NguopT 

(c) mZtpgj;J  3. tspkz;ly NguopT 

(d) njhw;WNeha;  4. khDl NguopT 

(a) (b) (c) (d)   

(A)  2 1 4 3 

 (B) 2 3 4 1 

 (C) 3 1 2 4 

 (D) 3 1 4 2 

Ans - (D) 3 1 4 2 

183. Despite the substantial improvement in health conditions of people in India, there has been 

certain negative trends due to 

 I. High incidence of HIV/AIDS in rural areas 

 II. High incidence of HIV/AIDS in urban areas 

 III.  Growing incidence of Heart Diseases and cancer in rural areas 

 IV. Growing incidence of Heart diseases and cancer in urban areas 
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 (A) All are correct    (B) I and III correct 

 (C) II and IV correct    (D) I, III and IV correct 

Ans - (B) I and III correct 

,e;jpa kf;fspd; cly; epiyapy; fzprkhd msT Kd;Ndw;wk; Vw;gl;Ls;s NghjpYk;> 

rpy fhuzq;fshy; vjph;kiw Nghf;F fhzg;gLfpwJ. Nkw;$wpatw;wpw;f;F> gpd;tUgdtw;wpy; 

rhpahd tpilfis Fwpg;gpLf. 

I. HIV/AIDS fpuhkg; Gwq;fspy; mjpfkhf cs;sjhy; 

II. HIV/AIDS efh;Gwq;fspy; mjpfkhf cs;sjhy; 

III. ,ja Neha; kw;Wk; Nfd;rh; fpuhkg; Gwq;fspy; mjpfkhf cs;sjhy; 

IV. ,ja Neha; kw;Wk; Nfd;rh; efh;Gwq;fspy; mjpfkhf cs;sjhy; 

(A) midj;Jk; rhpahdJ   (B) I kw;Wk; III rhpahdJ 

(C) II kw;Wk; IV rhpahdJ   (D) I, III kw;Wk; IV rhpahdJ 

Ans - (B) I kw;Wk; III rhpahdJ 

184. Which one of the following matched is correct? 

 (a) Thyroid hormone   1. Cushing’s disease 

 (b) Insulin    2. Myxedema 

 (c) Corticosteroids  3. Acromegaly 

 (d) Growth hormone   4. Diabetes 

  (a) (b) (c) (d) 

 (A)  1 2 3 4 

 (B) 2 4 3 1 

 (C) 4 2 1 3 

 (D) 2 4 1 3 

Ans - (D) 2 4 1 3 

 fPo;fz;l nghUj;jj;jpy; gz;Gfspd; mbg;gilapy; vit rhpahdit? 

 (a) ijuha;L `hh;Nkhd;  1. Frpq;]; Neha; 
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 (b) ,d;Rypd;    2. kpf;]pbkh 

 (c) fhh;l;bNfh];Buha;l;];  3. mf;Nuhnkfhyp 

 (d) tsh;`hh;Nkhd;   4. ePuopT Neha; 

  (a) (b) (c) (d) 

 (A)  1 2 3 4 

 (B) 2 4 3 1 

 (C) 4 2 1 3 

 (D) 2 4 1 3 

Ans - (D) 2 4 1 3 

185. Which one of the following changes was not called by the Gandhian model and growth in the 

Indian Planning System? 

 (A) To replace production oriented planning with employment oriented planning 

 (B) To replace employment oriented planning with the production oriented planning 

 (C) It is in favour of small scale and cottage industries 

 (D) It is against large scale industries producing consumer goods.  

Ans -  (B) To replace employment oriented planning with the production oriented planning 

fhe;jpa Kiw kw;Wk; tsh;r;rpapd;gb ,e;jpa jpl;lkply; Kiwapy;> fPo;fhz;gtw;Ws; ve;j 

khw;wk; Nfhug;gltpy;iy? 

(A) cw;gj;jp rhh;e;j jpl;lkplYf;Fg; gjpyhf> Ntiy Nehf;fhd jpl;lkply; 

(B) Ntiy Nehf;fhd jpl;lkplYf;Fg; gjpyhf cw;gj;jp Nehf;fhd jpl;lkply; 

(C) rpwpa kw;Wk; Fbirj; njhopyfq;fSf;Fr; rhjfkhdJ 

(D) Efh;nghUs; cw;gj;jp nra;Ak; nghpa njhopyfq;fSf;F vjpuhdJ 

Ans - Ntiy Nehf;fhd jpl;lkplYf;Fg; gjpyhf cw;gj;jp Nehf;fhd jpl;lkply; 

186. The word ‘Secularism was inserted in the preamble of the constitution after supreme court of 

India observed ‘Secularism’ was a basic feature of constitution in 

 (A) 1975  (B) 1973  (C) 1976  (D) 1981 
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Ans - (B) 1973 

‘kjr; rhh;gpd;ik’ vd;w thh;j;ij> murpaikg;G rl;lj;jpd; Kfg;G thpapy; 

,izf;fg;gl;ljw;F Kd;dNu cr;r ePjpkd;wk; ‘kjr; rhh;gpd;ik’ murpayikg;Gr; rl;lj;jpd; 

mbg;gil $Wfspy; xd;W vd;W $wpa Mz;L vJ? 

 (A) 1975  (B) 1973  (C) 1976  (D) 1981 

Ans - (B) 1973 

187. The special status provided to Jammu and Kashmir under Art. 370 limits parliament to enact laws 

relating to 

 (A) List-I and List-III of the Seventh Schedule 

 (B) List-I only of the Seventh schedule 

 (C) List-II only of the Seventh Schedule 

 (D) List-I, II & III of the Seventh Schedule 

Ans - (A) List-I and List-III of the Seventh Schedule 

,e;jpa murpayikg;G rl;lj;jpd; 370 gb [k;K kw;Wk; fh\;kPh; khepyj;jpw;F rpwg;G 

me;j];J nfhLf;fg;gl;Ls;s epiyapy; ehlhSkd;wk; [k;K kw;Wk; fh\;kPh; khepy 

njhlh;Gila rl;lq;fs; ,aw;WtJ. 

(A) gl;bay; I kw;Wk; III (VohtJ ml;ltiz) 

(B) gl;bay; I (VohtJ ml;ltiz) kl;Lk;  

(C) gl;bay; II (VohtJ ml;ltiz) kl;Lk; 

(D) gl;bay; I, II kw;Wk; III (VohtJ ml;ltiz) 

Ans – (A) gl;bay; I kw;Wk; III (VohtJ ml;ltiz) 

188. The ideals of liberty, equality and fraternity enshrined in the preamble of the Constitution of India 

were adopted under inspiration from the  

 (A) American Declaration of Independence 

 (B) French Revolution 

 (C) Russian Revolution 

 (D) UN Charter 
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Ans - (B) French Revolution 

Rje;jpuk;> rkj;Jtk;> rNfhjuj;Jtk; vd;w nfhs;iffs; ,e;jpa murpayikg;gpd; 

KfTiuapy; Gdpjkhditahf Vw;fg;gl;likf;F J}z;Ljyhf ,Ue;jJ vJ? 

(A) mnkhpf;f tpLjiyg; gpufldk;  (B) gpnuQ;Rg; Gul;rp 

(C) u\;ag; Gul;rp    (D) I.eh. rhrdk; 

Ans - (B) gpnuQ;Rg; Gul;rp 

189. Which one of the following is not correct related to the distinctions between the grands under 

Article 275 and Article 282 of the Constitution of India? 

(A) The grants-in-aid under Article 275 are statutory whereas under Article 282 they are 

discretionary 

(B) Under Article 282, the union has the power to provide grants-in-aid even for non-plan 

expenditure 

(C) Under Article 275, the union has the right to give grants in accordance with the decision taken 

on the basis of recommendation of Finance Commission 

 (D) Allocation of Grants under Article 282 is based on the recommendation of Cabinet 

Committee 

Ans - (D) Allocation of Grants under Article 282 is based on the recommendation of Cabinet   

Committee 

gpd;tUtdtw;Ws; ve;j xd;W ,e;jpa murpayikg;G rl;l tpjpfs; 275 kw;Wk; 282-d; fPo; 

toq;fg;gLk; khdpaq;fSf;F ,ilNaahd NtWghLfs; njhlh;ghf rhpahd xd;W my;y? 

(A) tpjp 275-d; fPo;> toq;fg;gLk; khdpa cjtp rl;lg;gbahdJ. tpjp 282-d; fPo; 

toq;fg;gLtJ tphpg;GhpikahdJ. 

(B) tpjp 282-d; fPo;> kj;jpa muRf;F jpl;lk; rhuh nrytpdq;fSf;Fk; khdpa cjtp 

toq;f mjpfhuk; cs;sJ. 

(C) tpjp 275-d; fPo;> epjp Mizaj;jpd; ghpe;Jiuapd; Nghpy; vLf;fg;gl;l KbTfspd; 

mbg;gilapy; khdpaq;fis toq;fyhk; 

(D) tpjp 282-d; fPo;> mikr;ruit FOtpd; ghpe;Jiuapd; mbg;gilapYk; khdpaq;fis 

toq;fyhk;. 

(E) Ans –(D) tpjp 282-d; fPo;> mikr;ruit FOtpd; ghpe;Jiuapd; mbg;gilapYk; 

khdpaq;fis toq;fyhk;. 
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190. Match List I with List II and select the correct answer using the code given below: 

  List I     List II 

 (a) P.A. Sangma   1. Telugu Desam party 

 (b) G.M.C. Balayogi   2 CPI (m) 

 (c) Manohar Joshi   3. Shiv Sena 

 (d) Somnath Chatterjee   4. Congress-I 

  (a) (b) (c) (d) 

 (A) 2 3 4 1 

 (B) 4 1 3 2 

 (C) 2 4 3 1 

 (D)  4 3 1 2 

Ans - (B) 4 1 3 2 

gl;bay; I cld; gl;bay; II Ig; nghUj;jp> gl;bay;fSf;F fPNo cs;s njhFg;gpypUe;J 

rhpahd tpilapidj;j njhpT nra;. 

  gl;bay;  I    gl;bay; II 

(a) P.A. rq;kh    1. njYq;F Njrk; fl;rp 

(b) G.M.C. ghyNahfp   2. rp.gp.I (kh) 

(c) kNdhfh; N[h\p   3. rptNrdh 

(d) Nrhk;ehj; rl;lh;[p   4. fhq;fpu]; (I) 

  (a) (b) (c) (d) 

 (A) 2 3 4 1 

  (B) 4 1 3 2 

(C) 2 4 3 1 

(D)  4 3 1 2 

Ans - (B) 4 1 3 2 

191. Kaviko Arakkattalai Award given to -------------- during the year 2017. 
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 (A) Poet Muthulingam    (B) Poet Vairamuthu 

 (C) Poet Vali     (D) Poet Vijay 

Ans - (A) Poet Muthulingam  

 ftpf;Nfh mwf;fl;lisapd; ftpf;Nfh tpUJ 2017 Mk; Mz;L --------- toq;fg;gl;lJ. 

(A) ftpQh; Kj;Jypq;fk;   (B) ftpQh; ituKj;J 

(C) ftpQh; thyp    (D) ftpQh; tp[a; 

Ans - (A) ftpQh; Kj;Jypq;fk; 

192.  What Percentage of downtrodden students entrolment in private schools as per Right to Education 

Act? 

 (A) 25  (B) 26  (C) 27  (D) 28 

Ans - (A) 25  

fl;lha fy;tp chpik rl;lj;jpd; fPo; vj;jid rjtPj eyptile;j gphpitr; rhhe;j 

Foe;ijfs; jdpahh; gs;spfspy; Nrh;f;fgl Ntz;Lk;? 

 (A) 25  (B) 26  (C) 27  (D) 28 

Ans - (A) 25  

193. Find out the total votes of the electoral college for the Indian presidential Election, 2017.  

 (A) 11,00,346 Votes    (B) 11,04,546 Votes 

 (C) 12,06,232 Votes    (D) 13,00,346 Votes 

Ans - (B) 11,04,546 Votes 

 ,e;jpa [dhjpgjp Njh;jy;> 2017f;fhd Njh;jy; fy;Y}hpapd; nkhj;j thf;Ffis fz;Lgpb. 

 (A) 11,00,346 thf;Ffs;    (B) 11,04,546 thf;Ffs; 

 (C) 12,06,232 thf;Ffs;    (D) 13,00,346 thf;Ffs; 

Ans - (B) 11,04,546 thf;Ffs; 

194. Which one of the following is the objective of perspective plan 2023? 

 (A) Create Employment Opportunity  (B) Digital Technology 

 (C) Award     (D) Reward 



Winmeen VAO Mission 100 2018 

 

35 www.winmeen.com | Paid Copy – Don’t Share With Anyone 
 

Ans - (A) Create Employment Opportunity 

 ePz;l fhy jpl;lk; 2023y; fPo;fz;litfspy; vJ Kf;fpa Nehf;fkhf fUj;g;gLfpwJ? 

(A) Ntiytha;g;ig cUthf;Fjy;  (B) vz;kj; njhopy;El;gk; 

(C) tpUJ     (D) rd;khdk; 

Ans - (A) Ntiytha;g;ig cUthf;Fjy;  

195. Which of the following objectives regarding Skill India Mission is incorrect? 

 (A) Its objective is to achieve skilling of the youth across the country 

 (B) Its aim is to remove financial constraints in accessing skill training programmes 

(C) Under the mission, loans from Rs.50,000 to 1.5 lakh will be available to more the 34 lakh 

Youth of India 

 (D) The tagline of this mission is Kaushal Bharat 

Ans - (C) Under the mission, loans from Rs.50,000 to 1.5 lakh will be available to more the 34 

lakh Youth of India 

 nfhLf;fg;gl;Ls;sitfspy; jpwd; ,e;jpah jpl;lj;jpd; jtwhd Fwpf;Nfhs; vJ? 

(A) ehL KOtJk; cs;s ,isQh;fspd; jpwid Nkk;gLj;jNy ,jd; Fwpf;NfhshFk;. 

(B) jpwd; gapw;rp jpl;lj;jpd; %yk; epjp njhlh;ghd jilfis ePf;FtJ ,jd; 

Fwpf;NfhshFk;. 

(C) ,e;jpahtpy; 34 yl;rk; ,isQh;fSf;F &.50>000 Kjy; 1.5 yl;rk; toq;FtJ ,jd; 

gzpahFk;. 

(D) fh\y; ghuj; vd;gJ jhd; ,jd; Kof;fkhFk; 

Ans – (C) ,e;jpahtpy; 34 yl;rk; ,isQh;fSf;F &.50>000 Kjy; 1.5 yl;rk; toq;FtJ 

,jd; gzpahFk;. 

196.  Which country physicists created a new form of Hydrogen? (Negatively charged hydrogen 

cluster) 

 (A) India  (B) Austria  (C) Australia  (D) China 

Ans - (B) Austria 

i`l;u[dpd; Gjpa mikg;G (vjph;kiw kpd;D}l;lk; nfhz;l i`l;u[d; njhFg;G) ve;j 

ehl;L ,aw;gpay; mwpQh;fshy; cUthf;fg;gl;lJ? 
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(A) ,e;jpah  (B) M];jphpah  (C) M];jpNuypah  (D) rPdh 

Ans - (B) M];jphpah 

197. Rajiv Gandhi School of Intellectual Property Rights Law is located in ---------- (City) of ----------- 

State. 

 (A) Chennai – Tamil Nadu   (B) Ujaini – Madhya Pradesh 

 (C) Cochin – Kerala    (D) Khargpur – West Bengal 

Ans - (D) Khargpur – West Bengal 

uh[Pt; fhe;jp mwpTrhh; nrhj;J chpik rl;lg;gs;sp mike;Js;sJ ------- efhpy; ------- 

khepyj;jpy; 

 (A) nrd;id – jkpo;ehL   (B) c[;i[dp – kj;jpa gpuNj\; 

 (C) nfhr;rpd; - Nfush    (D) fhh;f;G+h; – Nkw;F tq;fhsk; 

Ans - (D) fhh;f;G+h; – Nkw;F tq;fhsk; 

198. Which one of the following is not correctly matched ? 

 (A) Varishtha Pension Bima Yojana  - Social security for old age 

 (B) Pravasi Karshal Vikas Yojana  - Seeking employment in abroad 

 (C) PM Fasal Bima Yojana   - Insurance coverage to farmers 

 (D) PM Gram Sadak Yojana   - Empowerment of rural women 

Ans - (D) PM Gram Sadak Yojana   - Empowerment of rural women 

 nfhLf;fg;gl;litfspy; ve;j xd;W rhpahf nghUe;jhJ? 

(A) thhp];jh ngd;rd; gPkh Nah[dh  - tajhdth;fspd; r%f ghJfhg;G 

(B) gpuNtrp fhRy; tpfh]; Nah[dh  - ntspehl;by; Ntiytha;g;G NjLtjw;F 

(C) PM ghry; gPkh Nah[dh   - tptrhapfs; fhg;Ghpik jpl;lk; 

(D) PM fpuhk rhlf; Nah[dh   - fpuhkGw ngz;fs; Kd;Ndw;wk; 

Ans – (D) PM fpuhk rhlf; Nah[dh   - fpuhkGw ngz;fs; Kd;Ndw;wk; 

199. When BSE’s sensex has reached its maximum 30,000 – mark for the first time in the history? 

 (A) 26 December 2016    (B) 26 January 2017 
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 (C) 26 April 2017    (D) 26 May 2017 

Ans - (C) 26 April 2017 

BSE’s th;j;jf Gs;sp 30>000 – Gs;spfs; vd;w tuyhw;W cauj;ij Kjd; Kjypy; ve;j 

ehspy; vl;baJ? 

(A) 26 brk;gh; 2016    (B) 26 [dthp 2017 

 (C) 26 Vg;uy; 2017    (D) 26 Nk 2017 

Ans - (C) 26 Vg;uy; 2017 

200. The Indian Space Research Organisation (ISRO) successfully tested indigenously developed 

cryogenic engine on 

 (A) January 25, 2017    (B) January 30, 2017 

 (C) April 1, 2017    (D) March 30, 2017 

Ans - (A) January 25, 2017  

,e;jpa tpz;ntsp Muha;r;rp epWtdk; (ISRO), KOtJk; ,e;jpahtpy; cUthf;fg;gl;l 

fpiuNah[dpf; ve;jpuj;ij ntw;wpfukhf Nrhjid nra;j ehs;. 

 (A) [dthp 25, 2017    (B) [dthp 30, 2017 

 (C) Vg;uy; 1, 2017    (D) khh;r; 30, 2017 

Ans - (A) [dthp 25, 2017 

 


